1.2 Proportional Tables NAME:

Corrective Assignment DATE:

In each table, determine if y is proportional to x. Explain why or why not.

1. 2. 3.
X y X y X 4 8 12
9 6 7 21 y | 16 | 32 | 48
12 8 3 9
6 4 8 26
18 12

Use the tables to answer the following.

4. 5.
Melon Cost
T
(pounds) | (dollars) (our? (?es) 8 4 14
2 2.50 Price 10
3 8.25 (dollars)
8 30

Is the price proportional to the amount of tea?

Is the cost proportional to the amount of melon?
prop Why or why not?

Why or why not?

Fill in the tables below.

6. A plant grows 6 cm 7. Job pays $38 for 4 hours | 8. y is proportional to x 9. yis proportional to x
every 2 days. of work.
Time | Height Time | Money . y . y
(days) | (cm) (hours) | (dollars) 9 18 9
1 1 4 12 12
6
2 2
7 21 10 5
3 3
4 4
5 5




ANSWERS TO 1.2 CORRECTIVE ASSIGNMENT

1. YES 2. NO 3. YES
k=%20r0.6 Not the same! k=4
6 8 4 12 Z=2=3 but £=325 16 32 48
51,218 T ’ 4 8 12
9 12 6 18
4, YES 5. NO 6.
k =2.75 Not the same! Time | Height
(davs) | (cm)
550 825 30 £=0.75 but 2=0.5
2 3 8 K * 1 3
10 _
but Vi 0.71 2 6
3 9
4 12
5 15
7. 8. 9.
Time | Money X ¥ X ¥y
(howrs) | (dellars) 3 g 18 9
1 9.50 4 12 24 | 12
2 19 9 27 B 3
7 21 10 5
3 28.50
4 38
5 47.50




